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INSTRUCTIONS AND INFORMATION

Read the following instructions carefully and follow them precisely.

1. Answer ALL the questions.

2. Aspecial ANSWER BOOK is provided in which to answer ALL the questions.
3.  Show workings in order to achieve p’art;-marks.

4.  You may use a non-programmable calculator.

5. You may use a dark pencil or blue/black ink to answer the questions.

6. Where applicable, show all calculations to ONE decimal point.

7.  Write neatly and legibly.
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8. Use the information and table below as a guide when answering the question. Try
NOT to deviate from it.

Question 1: 35 marks; 20 minutes

Topic of the question This question integrates:
Financial accounting
Reconciliation Bank Reconciliation and Creditors

Reconciliation

Managing resources
Internal control

QUESTION 2: 35 marks; 20 minutes

Topic of the question This question integrates:

Managing resources
Stock valuation and internal Inventory valuation: weighted average
control and internal control: problem-solving

QUESTION 3: 85 marks; 55 minutes

Topic of the question This question integrates:

Income Statement, tangible Financial accounting

asset and trade and other Concepts, Income Statement
payables notes. and Balance Sheet notes

QUESTION 4: 45 marks; 25 minutes

Topic of the question This question integrates:

Managerial accounting
Direct material cost

Manufacturing Factory overheads
Analysis and interpretation of unit costs and

break-even point
Managing resources
Internal control

QUESTION 5: 70 marks; 40 minutes

Topic of the guestion This question integrates:
Financial accounting
Cash Flow and interpretation of Cash Flow Statement
financial information Calculations and financial indicators

Analysis and interpretation

QUESTION 6: 30 marks; 20 minutes

Topic of the question This question integrates:
Managerial accounting
Cash Budget and internal Analysis and interpretation of a cash budget
control Managing resources
Internal control and internal audit
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QUESTION 1 RECONCILIATIONS AND VAT (35 Marks;20 Minutes)
1.1 CONCEPTS:
State whether each of the following statements is True or False; (3)

1.1.1 A post dated cheque received must be recorded in the CRJ on the date
of receipt.

1.1.2  The rule of prudence states that theft of cash must be recorded as an
expense.

1.1.3 A debit balance shown on the bank statement reflects that the bank
balance is unfavourable,

1.2  BANKRECONCILIATION:

The information provided relates to Osizweni Traders.

REQUIRED: C
1.2.1  Why is it important for a business to prepare a Bank Reconciliation

Statement? Provide ONE suitable reason. (2)
1.2.2  Calculate the correct bank balance in the general ledger of Osizweni

Traders on the 30 April 2016. Show all your workings. (8)
1.2.3  Prepare the Bank Reconciliation Statement on 30 April 2016. (9)
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INFORMATION:

A. Extract from the Bank Reconciliation Statement on 31 March 2016;

R
Qutstanding deposit 48 800
Qutstanding cheques:
262 (28 October 2015) 15 900
415 (26 February 2016) 14 750
420 (12 March 2016) 7 28 350
422 (31 May 2016) 1 500

NOTE:

* The deposit of R48 800 appeared on the bank statement on 2 April 2016.

e Cheque no. 415 was reflected on the bank statement for April 2016 as
R17 450. The bank statement is correct. The other outstanding cheques have
not been presented at the bank.

B. The Bank Account showed a credit balance of R14 250 on 30 April 2016 before
considering the following:
s A direct deposit of R8 500 by the tenant.
¢ An unpaid cheque of R15 200 received from Z. Nyawo. This cheque was
originally received in settlement of his account of R15 500.
s Bank charges, R 2 100.
e Interest on overdraft R1 110.

C. The following information appeared only in the Cash Journals for April 2016:
e A deposit of R64 830
e Cheque number 460 issued to P, Lee for R15 800

D. The bank overcharged on the bank charges for April by R760. The bank has

agreed to correct the error during May 2016. This is not included in the bank
charges mentioned in information B.
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1.3  CREDITORS’' RECONCILIATION

The Creditors' Control account and the Creditors' List for September 2016
was prepared by the bookkeeper. There were some errors and omissions.

The balance in the Creditors' control account was R19 605 whereas the total
in the Creditors' list was R25 315 on 30 September 2016.

REQUIRED:

1.3.1 Indicate the corrections that must be made to the Creditor's Control
account in the General Ledger and Creditors' list by showing the
amounts with: + for increase; - for decrease. No details are required.  (11)

1.3.2 Lolo, the bookkeeper, is the only person assigned by the business to
place orders with suppliers and process all transactions in respect of
creditors. The internal auditor, Joe Zulu, discovered that the value of
goods actually received and placed in the store room was less than

the quantities indicated on various invoices. Indicate ONE internal ( y
control measure that can be implemented to avoid this in future? (2) ’
INFORMATION:

The following errors and omissions were discovered:
A. The Creditors Journal was overcast by R1 000,

B. A debit note of R2 000 was not entered in the Creditors Allowances
Journal.

C. A debtor with a credit balance of R1 500 was included in fhe list of
creditors by mistake.

D. An amount of R3 090 in the Creditors Journal was incorrectly posted
to a creditor’s personal account as R3 900.

E. The Debtors' Control column total of R9 000 in the Cash Payments
Journal was erroneously posted to the Creditors’ Control account.

F. Goods purchased on 30 September 2016 for R4 600 was recorded
correctly in the relevant Journal. However this entry was not posted to
the account of the creditor in the creditors’ ledger.

35
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QUESTION 2: INVENTORY VALUATION AND INTERNAL (35 Marks;20 Minutes)

CONTROL.

21 You are provided with information relating to Khombindlela Traders. The
business is owned by Thule Ntuli. The business sells one type of leather bag.
The financial year ended on 30 June 2016. The business uses the weighted
average method to value their stock and the periodic stock system is in

operation.
REQUIRED:

2.1.1 Calculate the value of closing stock on 30 June 2016 using the
weighted average method.

2.1.2 Thule is concerned about the control of the stock of leather bags.
She suspects that leather bags have been stolen by her workers.
Provide a calculation to confirm her suspicion.

2.1.3 Calculate the average stock holding period (in days) for the financial
year ended 30 June 2016.

2.1.4 Thule wants to alternate between using the weighted average method
and the First-in-first-out (FIFO) method, depending on which will result in
a higher cost of sales.

However, the bookkeeper does not agree with Thule. She says that it
does not comply with the requirements of International Financial
Reporting Standards (IFRS).

o In your opinion, why do you think Thule wants to increase the
value of cost of sales?

» Provide TWO reasons why the bookkeeper says that alternating
between the two methods of valuing stock does not comply with
the requirements of International Financial Reporting Standards

(IFRS).

Copyright reserved Please turn over
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INFORMATION;
A. C)Eenmg stock and closmg stock: ,‘
DATE NUMBER OF PURCHASE TOTAL
_ | UNITS PRICE PER UNIT
01 July 2015 ' 400 _ R350 R140 000
30 June 2016 200 - ? | ? _ |
B. Purchases:
DATE NUMBER OF PURCHASE TOTAL
UNITS PRICE PER UNIT
August 2015 300 R370 R111 000
October 2015 350 R380 R133 000
November 2015 300 R390 R117 000
March 2016 250 R400 | R100000
TOTAL 1200 - R461 000

C. Carriage on purchases:
Carriage on purchases from the manufacturer to Khombindiela Traders was (
R32.50 per leather bag.

D. Returns:
Hundred (100) defective leather bags, bought during March 2016, were returned
to the supplier. The supplier allowed a refund. There will be no refund for
carriage on purchases.

E. Sales:
A selling price of R900 per leather bag was maintained throughout the financial
year. The total sales for the financial year amounted to R1 116 000 .

2.2 INTERNAL CONTROL

You are provided with the information related to Quick Bicycle Suppliers for three
branches. The business is owned by Zodwa Thusini.

REQUIRED:

Zodwa is concerned with the results. Identify ONE problem in relation to each
branch, quoting figures/amounts to support your findings or opinion. In each case,

( )

offer Zodwa advice on how to solve the problem identified. (©)
I LLOCATION OF BRANCH DURBAN l RICHARDS BAY | LADYSMITH
NAME OF MANAGERIESS SENZQLO JOYFULL KHETHIWE
Number of bicycles available for sale 490 400 290
Number of bicycles sold during the year 490 72 250
Physical count on 29 February 2016 0 328 40
Total sales (amounts actually banked) R1 225 000 R237 600 R710 000
Cost price per bicycle R2 000 R2 000 R2 000
Mark-up% 7 25% 65% 50%
Selling price per bicycle 7 R2 500 R3 300 R3 000
Advertising costs per year R10 000 R2 000 R10 000
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QUESTION 3: FINANCIAL STATEMENTS: COMPANIES

Preparatory Examination September 2016

(85 Marks; 55 Minutes)

You are provided with information relating to Nongweleza Limited for the financial year ended

30 June 20186.
REQUIRED:

3.1 Complete the Income Statement for the year ended 30 June 2016.

3.2 Complete the following notes:
3.2.1 Tangible/fixed assets
3.2.2  Trade and other payables.
INFORMATION:

The following balances and totals were extracted from the Pre-adjustment

Trial Balance of Nongweleza Lid on 30 June 2016;

Balance Sheet Accounts Section R
Ordinary share capital 10 710 000
Retained income 800 000
Mortgage Loan: MM Bank 1 200 000
Land and buildings 3 800 000
Vehicles 2 800 000
Equipment 950 000
Accumulated depreciation on vehicles (1 July 2015) 1350 000
Accumulated depreciation on equipment (1 July 2015) 450 000
Fixed Deposit: MM Bank 900 000
Creditors Control 660 000
Debtors Control 458 500
Trading stock 1500 000
Provision for bad debts (1 July 2015) 21996
Pension fund 45 400
SARS: PAYE 64 100
SARS: Income tax (provisional tax payments) 100 000
Nominal Accounts Section

Sales 6 200 000
Cost of sales 3 000 000
Debtors allowances 20 000
Audit fees 33 800
Insurance 20 000
Bad debts 14 000
Directors fees 528 000
Rent income 128 800
Salaries and wages 1220 000
Pension fund contributions 36 200
Interest on loan 92 800
Interest on fixed deposit ?
Packing material 21 000
Bad debts recovered 2 760
Bank charges 3 200
Sundry expenses 77 100
Ordinary share dividends 180 000

Copyright reserved
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ADJUSTMENTS AND ADDITIONAL INFORMATION:

A.  An invoice was issued on 28 June 2016, to a debtor, for a credit sale of R80 000
upon which a trade discount of 20% was granted. These goods were sold at a
60% mark-up. No entries were made for this transaction.

B. No entries have been made for stock stolen at the beginning of June 2016. The
insurance company has informed Nongweleza LTD that they have transferred
R 24 000 into the business bank account in respect of the insurance claim.
Nongweleza LTD bears 20% of any stock loss.

C. On 30 June 2016, R2 400 was received from J Smith, whose account had
previously been written off as irrecoverable. The amount was entered in the
debtor's column in the CRJ, This must be corrected.

Adjust the provision for bad debts to R18196.

E. Packing material to the value of R18 000 was used during the year ended
30 June 2016.

F. A physical stock taking on 30 June 2016 reflected that stock to the value of ( )

R1 400 000 was on hand.
The directors’ fees for June 2016, R32 000, is still outstanding.

H. An employee’s details were omitted from the Salaries Journal for June 2016.
He has not been paid. His details are as follows:

Deductions ~ Employer’s contribution
PAYE Pension Pension Net salary
2 880 1 950 3 900 10 500

I The rent has been received three months in advance. The monthly rent
increased by 10% on 1 November 2015.

J.  Anold vehicle was sold for cash on 29 February 2016 for R43 440.
No entries have been made. Vehicles are depreciated at 15% p.a. on cost.

The fixed asset register for the vehicle sold revealed the following:

Cost price _ 245 000
Accumulated depreciation at the beginning of the financial year 169 400

K.  Make provision for depreciation as follows:

¢ On the remaining vehicles at 15% p.a. on cost.
¢ On equipment at 10% p.a. on the diminishing balance method. A new computer
was purchased on 1 January 2016 for R36 000. This was propetly recorded.

L.  Final dividends were declared at 8 cents per share. 2 100 000 ordinary shares
were in issue on 30 June 2016.

M. Income tax of R252 000 was calculated at 28% of the net profit. This must still
be brought into account.

85
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QUESTION 4: MANUFACTURING (45 Marks; 25 Minutes)
4.1 Match the description in column B with the cost in column A.
COLUMN A COLUMN B
411 | Direct labour cost A [ Salary paid to the bookkeeper
| 4.1.2 Direct material cost B | Depreciation on factory equipment
413 Selling and distribution cost | C | Material used to make the final
; product
| 414 Administration cost D | Wages paid to factory machine
operator
| 415 Factory overhead cost E | Commission to sales agents
(6)
4.2 You are provided with information taken from the books of Clermont Furnishers.
The financial year ended on 29 February 2016.
{0 REQUIRED:
Complete the following notes to the Production Cost Statement:
4,2.1 Direct Material Cost : (8)
4,2.2 Factory Overheads Cost (23)
INFORMATION:
A. Balances:
L T e . ]
29 February 28 February
2016 2015
Raw materials stock R120 000 R80 000
Work-in-process stock R75 000 R89 000
Consumable stores stock R55 000 R45 000
Accrued expenses(water and electricity) - R5 000
() Prepaid expenses (water and electricity) R8 000 ~
B. Transactions for the financial year ended 29 Febru-ary 2016:
Purchases of raw materials: Cash | R400 000
: Credit R650 000
Purchases of consumable stores R370 000
Carriage on purchases of raw materials R31 000
Raw materials returned to suppliers R17 000
Rent expense paid R585 000
Water and electricity paid , R412 400
Advertising paid R85 000
Insurance paid R78 000
| Factory sundrx expenses paid R44 625

Copyright reserved Please turn over
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Rent expense is allocated in accordance with the floor space
occupied. The space is occupied as follows: factory 2 000m? and the
other departments 1 200 m?.

Consumable stores are shared in the ratio 5:1 by factory and the
administration department respectively.

Insurance is shared between the factory, sales and administrative
department in the ratio 3: 2: 1.

Indirect labour in the factory comprises: the factory foreman who earns
R114 600 per year, and a cleaner who eams R39 000 per year
(inclusive of employers’ contributions). The cleaner spends half of her
time in the factory.

The factory uses 70% of the water and electricity while the sales and
administration departments share the remaining 30% equally.

Depreciation written off: (.
¢ Office equipment, R9 500
» Factory machinery, R12 800

4.3 ZONDI MANUFACTURERS

Zondi Manufacturers produces and sells juice bottles. The business is owned by

Themba Zondi.
REQUIRED
4.3.1 Give ONE example of a fixed cost and ONE example of a variable cost.  (2)
4.3.2 Calculate the break-even point for the year ended 30 June 20186. 4)
4.3.3 Should the business be satisfied with the number of units that they are ( )
currently producing? Briefly explain. (3)
INFORMATION:

The information below relates to Zondi Juice Bottle Manufacturers for the year
ended 30 June 2016:

Number of juice bottles produced and sold. 18000
Sales , ' R540 000
Total fixed cost ' - R180 000
Total variable cost R216 000
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QUESTION 5 CASH FLOW AND INTERPRETATION OF
FINANCIAL INFORMATION (70 Marks; 40 Minutes)

5.1  You are provided with the information related fo Amanda Limited for the year
ended 29 February 2016.

REQUIRED:

5.1.1  Prepare the Retained Income Note for the year ended 29 February 2016

5.1.2  Refer to the incomplete Cash Flow Statement provided in information F.
Calculate only the missing figures indicated by (a) to (d) in the Cash Flow
Statement on 29 February 2016. Indicate outflow in brackets.

513 The directors took some significant decisions which affected the cash
position of the company. List TWO of these significant decisions and
indicate how the business will benefit from these decisions. Quote
figures to support your answer.

5.1.4 Calculate the following for the financial year ended 29 February 2016:

e Percentage return on average shareholders’ equity (ROSHE)

Copyright reserved Please turn over
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INFORMATION:

A. Extract from Income Statement for the year ended 29 February 2016.
Sales R10 000 000
Costof sales _ R5 000 000
Depreciation R205 000
Interest expense R148 500
Net profit after tax 7 ) R4 200 000
Income tax ( 30% of the net profit before tax) _ ?

B. Extract from Balance Sheet :

29 February 2016 28 February 2015
Fixed/tangible assets R5 953 000 R5 692 500
Financial asset R1 600 000 R800 000
Inventories ‘ R660 000 R470 000
Trade debtors R750 000 R590 000
Trade creditors R900 000 R700 000
Shareholders for dividends 7 R300 000
SARS-Income tax DR R500 000 CR R800 000
Ordinary share capital R5 388 900 R4 620 000
Retained income ? R528 000
Non-current liabilities R1 800 000 R2 500 000

C. Shares:

¢ 2310 000 ordinary shares were in issue on 1 March 2015.

» 390 000 ordinary shares were issued on 1 April 2015.

e 170 000 shares were repurchased on 30 September 2015 at R3 per
share.

D. Dividends:
» Interim dividends of 33 cents per share were paid on 1 September 2015.

» Final dividends of 20 cents per share on 29 February 2016 were
declared,
NOTE: All shares in issue on the date of declaration qualify for dividends.

E. Tangibleffixed assets:

* Fixed assets were sold for cash at carrying value of R327 750 during the
financial year,

¢ Land and buildings were bought during the year. No other fixed assets
were purchased.

Copyright reserved Please turn over
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AMANDA LTD
CASH FLOW STATEMENT FOR THE YEAR ENDED 29 FEBRUARY 2016. |

Cash flows from operating activities

Cash generation from operations

Interest paid — (148500)
Dividends paid (a)
Income tax paid (b)

Cash flows from investing activities

Purchase of fixed assets : (c)
Proceeds on sale of fixed assets 327 750
Increase in financial asset | (800 000)

Cash flows from financing activities

Proceeds from issue of share capital — (dv)}
Buy back of shares (510 000)
Payment of long-term loan (700 000)

Net change in cash equivalents
Cash and cash equivalents — beginning of year 494 500

Cash and cash equivalents — end of year

Copyright reserved Please turn over
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5.2 ANALYSIS AND INTERPRETATION

You are provided with the information of Vryheid Limited. The company is registered
with an authorized share capital of 2 000 000 shares. The financial year ended on 29
February 2016.

REQUIRED:

5.2.1

52.2

52.3

524

The CEO, Lungi Dundee, currently owns 48% of the issued shares. The board
of directors plan to issue 50% of the unissued shares in July 2016.

’ Calculate the minimum number of shares that Lungi must buy in
July 2016 to gain control of the company.

J Lungi wants to purchase the additional shares, at R13 per share without
advertising the shares to the public. Give TWO reasons why you would
not approve of this arrangement.

The directors decided to increase the loan during the current financial year.
Quote TWO financial indicators (actual figures/ratios/percentages) that are
relevant for their decision. Explain why this was a good decision, or not.

New shares were issued at the beginning of the financial year at R10.00 each.
Explain why the existing shareholders would or would not be happy with this
issue price? Quote TWO financial indicators (with figures) to explain their
opinion.

The directors are generally happy with the improvement in the liquidity from
2015 to 2016. Quote THREE relevant financial indicators for both years
(actual ratios or figures) to support their opinion.

INFORMATION:

Copyright reserved

The following financial indicators were taken from the accounting records of
Vryheid Limited for the years ended:

29 Feb, 2016 | 28 Feb, 2015
Shares issued 1 200 000 shares | 450 000 shares
Return on average shareholders' equity 54,3% 37,3%
Return on total capital employed 41,6% 35%
Net asset value per share 1 600 cents 1400 cents
Debt/equity ratio 0,6:1 0,3:1
Current ratio 1,41 0,9:1
Acid-test ratio 0,7:1 0,8:1
Rate of stock turnover 4 times p.a. ~ 3times p.a.
Debtors' collection period 28 days 35 days
Creditors' payment period 20 days 40 days
Earnings per share 610 cents 590 sent
Dividends per share 125 cents 135 cents
Market price of shares on JSE 1700 cents 1600 cents
lnte‘rest rate on loans 18% 16%

(8)

(4)

(6)
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QUESTION 6 PROJECTED INCOME STATEMENT AND
INTERNAL CONTROL

(30 Marks; 20 Minutes)

6.1 You are provided with the Projected Income Statement of Pongola Traders for
July and August 2016. The actual figures are also provided. The business is
owned by Velaphi Khanda. He uses a fixed mark-up percentage at all times and
credit sales comprise 60% of all sales.

REQUIRED:

6.1.1 Calculate the mark-up % that Pongola Traders uses.

6.1.2 Velaphi is concerned about the support he is getting from his customers.

He is concerned about losing ‘goodwill’.

L4

L]

Quote figures from the question which indicates that he is losing

customers.

Identify ONE reason, with appropriate figures, to indicate why he

is losing customers.

6.1.3 The shop assistants earn equal wages. Two of the six shop assistants
resigned at the beginning of August. They have not been replaced.

Copyright reserved
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Calculate the % salary increase that Velaphi granted the shop

assistants in August.

Give ONE reason why the shop assistants would not be happy
with this increase. Quote evidence to support your answer.

Please turn over
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Projected Income Statement for July and August 201

6.

Budget _Budget

Sales ~ 540000] 396000| 594 000 360 000
Cost of sales 300000| 220000] 330000| 200000
Gross Profit 240 000 176000 264 000 160 000
Rent income 36000 18000 42 000 21 000
Gross operating income 276000 194000| 306000 81000
Operating expenses (149480) 1| (165380) | (120128)  (131100)}|
Salary of the manager 400001 40000 50 000 50 000
Wages of shop assistant 24 000 24000 24000 | 16 800
Telephone 11 000 3000 1000 5 000
Security expenses 7 000 | 3 500 7 000 3 500
Trading stock deficit 0 18 000 0 12 000
Training of employees 30 000 10 000 0 0
Advertising 5000 1000 5 000 1000
Discount allowed 2 000 0 2 000 0
Entertainment expenses 10 000 40000 10 000 10 000
Bad debts 6 480 11 880 71281 10800
Stationery 4 000 4000 4000 7 000
Depreciation 10 000 10'(&9 | 10 000 15 OO_Q;
Operating profit/loss 126 520 28620 1858721 (50100)
Interest income (6% p.a) 12000 12 000 12 000 9000
Profit before interest expense 138520 40620 197 8721 (41 100)
Interest expense (15% p.a) (37500)| _(37500) | (: 37 500)
Net profit/loss for the year 101 020 3120 160372| (78600)
CASH BUDGET AND INTERNAL CONTROL.
You are provided with the information related to Nongweleza Traders. The business
is owned by Zamani Dladla.
REQUIRED:
6.2.1 Give ONE reason why a business will compare budgeted figures with actual

figures. (1)
6.2.2 Complete the Debtors Collection Schedule for November 2016. (6)
6.2.3 Calculate the payment to creditors for November 2016. _ (5)
6.2.4 At the end of September 2016, the following figures were identified. The

owner wants you to explain the possible causes as to why the budgeted and
actual amounts might differ significantly. Explain what you would mention to
him about each of the following items. Give one point of advice in each case. (6)

[ BUDGETED | ACTUAL |
[Fuol RO 200 R20000|
Rent Income R10 000 R3 000

Copyright reserved
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INFORMATION:
A. Sales and cost of sales

70% of total sales are on credit and the rest for cash.

The business uses a mark-up of 60% on cost.

Stock is replaced in the month of sale.

40% of goods are bought on credit and the rest for cash.
Creditors are paid in the month following the purchase of stock to
qualify for a 2% discount.

B. Debtors are expected to pay as follows:
e 35% of debtors pay their accounts in the month of sale to receive a
5% discount.
40% pay in the month after sale.
20% pay two months after sale.
5% of debts are written off.

C. Extract from the Cash Budget for the period September to
November 2016 .
[, S AR
SEPTEMBER | OCTOBER NOVEMBER

Receipts
Cash sales 390 000 270 000 264 000
Collection from debtors 410 675 ? ?
Rent income 10 000 10 _Q_Qg 10 000
Payments
Cash purchases ? ? ?
Payment to creditors 180 000 318 500 ?
Fuel 9 200 12 000 12 845
Training of employees 30 000

Copyright reserved
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QUESTION 1

1.1 Statev whether eaqh of the fpllowing statem@ntsri’s True or False:

1.1.1

1.1.2

1.2.1 ‘WVh'y is it important for a business to prepare the
Bank Reconciliation Statement? Give ONE reason only.

1.2.2 § Calculate the correct Bank Account balance on the 30 April 2016.
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1.2.3 Prepare the Bank Reconciliation Statement on 30 April 2016

Debit

Credit

‘)

um

1.3.1 Indicate the corrections that must be made to the Creditor's Control account
in the General Ledger and Creditors' list by showing the amounts with:

+ for increase; - for decrease. No details are required.

Pre-adjustment balance/total

Creditors control

Creditors list

19 605

25 315

@ Mmoo w>
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1.3.2  [Lolo, the bookkeeper, is the only person assigned by the business to place
orders with suppliers and process all transactions in respect of creditors.
The internal auditor, Joe Zulu, discovered that the value of goods actually
received and placed in the store room was less than the quantities
indicated on various invoices. Indicate ONE internal confrol measure that
can be implemented to avoid this in future?

TOTALMARKS

35
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QUESTION 2

2.1.1 { Calculate the value of closing stock on 30 June 2016 using the weighted
average method.

- -

"~ 242 [Thule is concerned about the control of the stock of leather bags.

She suspects that leather bags have been stolen by her workers.
Provide a calculation to confirm her suspicion.

12.1.3 | Calculate the avzrage stock holding period (in days) for the financial year
ended 30 June 2016.

]
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2.1.4 | Thule wants to alternate between using the weig';hted average method and
the First-in-first-out (FIFO) method, depending on which will result in the

higher cost of sales.

In your opinion, why do you think Thule wants to increase the value of
cost of sales?

[ Provide TWO reasons why the bookkeeper say;’t-ﬁat alternatir'xg between
the two methods of valuing stock does not comply with the requirements
of International Financial Reporting Standards (IFRS).

_ .... LT

2.2 - AR ” -
Zodwa is concerned with the results. Identify ONE problem in relation to
each branch, quoting figures/amounts to support the problem. In each
case, offer Zodwa advice on how to solve the problem identified.
Problem identified with Advice |
figures. — A
DURBAN
SENZOL.O
RICHARDS
BAY
JOYFULL
LADYSMITH
KHETHIWE D
TOTALMARKS
35
Copyright reserved Please turn over
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QUESTION 3

3.1

NONGWELEZA LIMITED

INCOME STATEMENT FOR THE YEAR ENDED 30 JUNE 2016

Preparatory Examination September 2016

Gross profit

+__

Other operating income

Operating Expenses
) Audit fees ) 33 800
Insurance 20 000
Bad debts 14 000
Operating profit

Operating profit before intereét expense

Net profit before tax

Net profit after tax

Copyright reserved
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3.2.1 Tangiblelfixed asset

8
NSC-Answer book

Preparatory Examination September 2016

_Vehicles

"~ Equipment |

Carrying value at' the beginning of the year

C’dst

1 450 000 464 000
0 000 914 000 |

Accumulated depreciation

Movements

28000
(1 350 000) (450 000)

Additions at cost

Disposals at carrying value

Depreciation

Carrying value at the end of the year

Cost

Accumulated depreciation

3.2.2 Trade and other payables

Copyright reserved

TOTALMARKS

85

Please turmn over




Accounting

QUESTION 4
4.1

NSC-Answer hook

COLUMN A

COLUMN B

4.11

4.1.2

4.1.3

Preparatory Examination September 2016

4.1.4

4.1.5

4.2.1 | Direct Material Cost

Opening stock 80 000
]
4;2.2 Factory Overheads Cost

Factory sundry expenses 44 625

Depreciation

12 800

Copyright reserved
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4.3.1 | Give ONE example of a fixed cost and ONE example of a variable cost.

Example of a fixed cost

Example of a variable cost D

4.3.2 | Calculate the break-even point for the year ended 30 June 2016,

4.3.3 1 Should the business be satisfied with the number of units that they are
currently producing? Briefly explain.

TOTALMARKS

A5
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QUESTION 5

5.1.1 RETAINED INCOME
Balance at the beginning of the financial year 528 000

Net profit after tax for the year

Dividends

5.1.2 Calculate the missing_[i_gures in the Cash Flow Statement.

WORKINGS 7 ANSWER

(a)

(b)

(c)

(d)

—

Copyright reserved Please turn over




Accounting

12 Preparatory Examination September 2016
NSC-Answer book

5.1.3 [ The directors took some significant decisions in the past years which
affected the cash position of the company. List TWO of these significant
decisions and indicate how the business will benefit from these decisions.

Quote figures to support your answer.

Decisions ( with figures)

Explanation of Benefits

5.1.4 | Return on shareholders’ equity

Copyright reserved
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5.2.1 | Calculate the minimum number of shares Lungi must buy in July 2016 to
gain control of the company.

Lungi wants to purchase the additional shares at R13 per share without
advertising the shares to the public. Give TWO reasons why you would not
approve of this arrangement.

5.2.2 | The directors decided to increase the loan during the current financial
year:

s Quote TWO financial indicators (actual figures/ratios/percentages)
’, that are relevant to their decision. Explain why this was a good
() decision, or not

Copyright reserved Please turn over
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5.2.3 | New shares were issued at the beginning of the financial year at R10.00
each. Explain why the existing shareholders would or would not be happy

with this issue price?

Quote TWO financial indicators (with figures) to explain your opinion.

5.2.4 | The directors are generally happy with the improvement in the liquidity
from 2015 to 2016. Quote THREE relevant financial indicators for both

years (actual ratios or figures) to support their opinion.

TOTALMARKS

70
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QUESTION 6

6.1.1 | Calculate the mark-up % that Pongola frader uses.

6.1.2] Velaphi is concerned about the support he is getting from this customers.
He is concerned about losing ‘goodwill’.

Quote figures from the questidn which indicates that he appears to be
losing customers.

) Identify ONE reason, with appropriate figure to indicate why he appears to
be losing customers.

[ ]
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6.1.3 | The shop assistant earns equal wages. Two of the six shop assistants

resigned at the beginning of August. They have not been replaced.

August.

Calculate the % salary increase that Velaphi granted the shop assistants in

Quote evidence to support your answer.

Give ONE reason why they would not be happy with this increase.

Copyright reserved
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figures.

6.2.1 | Give ONE reasons why business compare budget figures with actual

6.2.2 | Complete the Debtors Collection Schedule for November 2016.

CREDIT SALES PER MONTH

OCTOBER NOVEMBER
(9 SEPTEMBER 910 000 364 000
OCTOBER 630 000
NOVEMBER

TOTAL RECEIVED

6.2.3 § Calculate the payment to creditors for November 2016

Copyright reserved
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6.2.4 | At the end of September 2016, the following figures were identified. The
owner wants you to explain to him why the budgeted and actual amounts
of certain items differ significantly. Explain what you would mention to him
about each of the following items. Give one point of advice in each case.

LEXPLANA’I;ION ADVICE
i =A=N—

RENT INCOME:

TOTALMARKS

30
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